Sample Paper

Physics USPH?302 : Vector calculus, Analog Electronics

1. If biasing is not done in an amplifier circuit, it resultsin ...............
(i) Decrease in the base current

(if) Unfaithful amplification

(iii) Excessive collector bias

(iv) betteramplificaion

2. The disadvantage of base resistor method of transistor biasing is that it

(i) Is complicated

(ii) Is sensitive to changes in 3

(iii) Provides high stability

(iv) gain is samll

3.The value of stability factor for a base resistor bias is ............
() Re (B+1)

(i1) (B+DRc

(iii) (B+1)

(iv) 1-B

4. Ideally the input resistance of an amplifieris
(i) infinite

(ii) zero

(iii) less than 500 Q

(iv) less than 1000 Q

5. The phase relationship between input and output of CE Amplifier is

(i) 0°
(ii) 90°



(iii) 180°

(iv) 270°

6. Oscillator make use of  feedback.
(i) positive

(i) negative

(iii) voltage divider

(iv) no

7. Maximum frequency produced in Wien Bridge Oscillator is
(i) 100 MHz

(ii) 10 MHz

(iii) 1000 MHz

(iv) 1 MHz

8. The formula for frequency of oscillation of Colpitt’s oscillator is :
1

(I) f - 2nRC

(ii) f = -

(i) f = zﬂbﬁ
(V)f = 7=

9. Gain of voltage followeris
(i) 1

(i) 10

(iii) 20

(iv) 50

10. Formula for slew rate is

(i)s ==



(i) S ==

AV
Al
(i) § = o
. AT
(iv)S = m

11 The line integral of the vector function 2x2% + 2xyj from (0,0) to (1,0) is
I. 1
. 2
iii. %
iv. 2/3
12 The gradient of the function * + siny is

I. e*i+cosyj
. -2e*i —cosyj
li. cosyj

iv. e*i

13 The value of [ [ [\ x dx dy dz is

. 2
ii. 1
. ¥
iv. 1/3

14 In sphericalcoordinatesystem the line elements are

. dx, dy, dz

ii. dr,de,do

ii.  dr, rde, rsinbd¢
iv. 1,0,¢

15. Thecoordinates in cylindrical coordinate system are
L. X VZ
. r0,¢

. r, ¢,z

V. X VY, 0



